

# ANNUAL REPORT

Kisan Vidya Prasarak Sanstha's

Kisan Arts, Commerce & Science College,

Parola, Dist. Jalgaon

# ANNUAL REPORT PUBLISHING COMMITTEE

Prin. Dr. Y.V. Patil - Chairman

Dr. G.H. Sonawane - Member

Dr. P. D. Patil - Member & IQAC Coordinator

Mr. A. S. Patil - Member

Mr. N. N. Valvi - Member

Dr. P.P. Patil - Co-ordinator

## VISION OF THE COLLEGE

To impart quality higher education and inculcate social and ethical values among rural students to make them good, self-reliant and capable Citizens of India.

# MISSION OF THE COLLEGE

To achieve an all-round development of the students, we aim at encouraging creativity, self-employment, social service, aesthetic sense, conscientiousness along with the need of environment, sports and cultural proficiency and ideal citizenship so as to enable them to preserve the healthy democracy in the country.

## **OBJECTIVES OF THE COLLEGE**

## The Institution is committed for:

- To help students to develop in-depth knowledge in selected area of study.
- To open the students to the social realities with a view to make him/her a responsible citizen.
- To ensure and inculcate perfect discipline in terms of regularity, sincerity and punctuality amongst the students so that they contribute to the society and nation as most responsible and respectable citizens.
- To provide a platform to the students, by giving them an opportunity to face all the challenges of the competitive world, with utmost utilization of their potential in sports, athletics and other events

# Preface

This year is very important and a mile stone for our college till this time we have fulfilled approximately all the basic requirements for the students and the employees, for example up to date labs, enriching Library, students facility Center (Computer Center), research activities.

- NCC unit of the college organized training camp during covid-19 period required for 'B' and 'C' certificate.
- On the occasion of Late Appasaheb Smritidina, for online education for Marathi subject students under Marathi department. Dr. Pradeep Aujekar, Marathi Department Head Dr. Manik Bagle inaugurated the Google Class Room QR Code.

PAROLA Dist. Jaigaon 425111

Dr. Y. V. Patil

(Principal)

Principal
KVPS Kisan Arts, Commerce & Science
College, Parola Dist. Jalgaon 425111



Sr. No.	Title	Page No.
1	Stream and courses in the college	7
2	Admitted students	7
3	Teaching Staff	8-9
4	Non-Teaching Staff	10-11
5	College Development Committee	11
6	Activities of the departments and committees	12-13
7	National Service Scheme (NSS)	13-15
8	National Cadet Corps (NCC)	16
9	Student Welfare Department	16
10	Sport	16 -17
11	Scholarships	17
12	Result of the departments	18 - 48
13	Paper Presented in the Seminar/Conference/Workshops	49 -50
14	Publications	50
14	Research Projects	51

## Kisan VidyaPrasarak Sanstha's

# Kisan Arts, Commerce & Science College, Parola, Dist -Jalgaon ANNUAL REPORT 2019-20

## 1. STREAM AND COURSES IN THE COLLEGE

Stream	Subject taught at general level	Subject taught at Special level
		-
Arts	Compulsory English, Marathi, Hindi, History,	English, Marathi,
	Geography, Economics, Political Science and	Hindi, History,
	Optional English	Geography,
		Political Science,
		Economics
Commerce	QTCS, Financial Accounting, Macro Economics	Advanced
	Analysis, Modern office Management, Principles	Accounting
	& Practice of Banking	
Science	Chemistry, Botany, Zoology, Physics, Geography,	Chemistry,
	Mathematics, Computer Science, Marathi, English	Zoology

# 2. ADMITTED STUDENTS

Stream	Class	Male	Female	Open	OBC	SC	ST	SBC	NT	Total
Arts	FYBA	221	92	38	180	35	16	01	43	313
	SYBA	113	85	17	137	11	08	03	22	198
	TYBA	66	56	16	80	06	01	03	16	122
Comme	FYBCom	66	61	26	85	08	-	01	07	127
rce	SYBCom	51	55	13	82	04	02	-	05	106
	TYBCom	25	29	08	40	02	01	01	03	54
Science	FYBSc	75	69	12	115	05	06	02	09	144
	SYBSc	75	64	06	111	06	01	02	08	139
	TYBSc	44	37	07	68	-	01	-	05	81
B.Voc	F.Y.B.Voc	13	5	01	15	-	01	-	01	18
	S.Y.B.Voc	21	27	04	39	01	-	01	02	48
	T.Y.B.Voc	28	23	09	39	02	-	-	01	51
Total	•	798	603	157	991	80	37	14	122	1401

## **TEACHING STAFF**

Sr. No	Name of Faculty	Subject	Qualification
01	Principal Dr. Y. V. Patil	Geography	M.Sc., M.Phil., Ph.D
02	Mr. Avinash B. Ahire	Hindi	M.A.
03	Dr. Bhagwan S. Bhadane	Chemistry	M.Sc. Ph.D.
04	Dr. Nandkishor H. Desale	Zoology	M.Sc., Ph.D.
05	Mr. Ravindra A.Shelake	Botany	M.Sc
06	Dr.Rajendra S.Patil	Botany	M.Sc., Ph.D.
07	Dr.Balkrishna T.Patil	History	M.A., B.ed., M.Phil. Ph.D.
08	Mr.Subhash S.Patil	Chemistry	M.Sc
09	Dr.Gunvant H.Sonawane	Chemistry	M.Sc., Ph.D
10	Mr.Harsh N.Sardar	Physical Director	M.A. M.Ped.,NIS
11	Mr.Mangal B.Baviskar	English	M.A., M.Phil.
12	Dr.Arvind G.Patil	Mathematics	M.Sc., M.Phil. Ph.D.
13	Mr.Chandrakant M.Netkar	Geography	M.A., B.ed., M.Phil.
14	Mr.Subhash K.Mahajan	Geography	M.A., B.ed., M.Phil.
15	Mr. Shrikant B.Patil	Zoology	M.Sc
16	Dr. Anita D. Mudavadkar	Chemistry	M.Sc., M.Phil.
17	Mr.Narendra B.Shirsath	Physics	M.Sc., B.ed., M.Phil.
18	Dr. Savita P.Chaudhari	Hindi	M. A., Ph.D
19	Mr.Arvind A.Bhandare	Economics	M.A., B.ed, NET

20	Mr.Prashant N.Ingole	Commerce	M.Com., NET
21	Dr.Manik M.Bagle	Marathi	M.A., B.ed, NET, Ph.D.
22	Dr.Pradip P.Patil	Botany	M.Sc., Ph.D.
23	Mr.Anil S.Waghmare	Chemistry	M.Sc., B.ed., NET
24	Dr.Prakash D.Patil	Geography	M.A., B.ed., M.phil., NET, Ph.D.
25	Dr.Dipak B.Salunkhe	Physics	M.Sc., Ph.D.
26	Dr.Chandrakant R.Satpute	Library	M.Lib. Ph.D.
27	Dr.Kiran S.Gosavi	Chemistry	M.Sc., Ph.D., NET, G.R.F. SET, GATE
28	Mr.Atul S.Patil	Chemistry	M.Sc., NET, SET, GATE
29	Mr.Hitesh G.Pawar	Commerce	M.Com. B.Ed., NET, SET.
30	Mr.Kiran D.Patil	Commerce	M.Com. B.Ed., SET.
31	Dr.Pradip J.Aujekar	Marathi	M.A., Ph.D., NET,
32	Dr. Prafull S. Thakare	Geography	M.A., Ph.D.,
33	Dr. Vilas K. Mahajan	Chemistry	M.Sc., Ph.D.
34	Mr.Shashikant B.Patil	Politics	M.A., NET
35	Mr.Nilesh N.Valvi	Geography	M.A. B.Ed., SET.
36	Mr.Pramod C.Chaudhari	English	M.A., NET
37	Mr.Kakasaheb S.Gaikwad	Geography	M.A., NET
38	Mr.Ravindra S.Mali	Politics	M.A., NET
39	Mr. Aniruddha M. Deore	B. Voc	M.Sc.agri,
40	Mr. Ishant Bharerao	computer	M.C. A
41			

# 3. NON-TEACHING STAFF

Sr.	Name of the Employee	Designation
No		
01	Mr. R. R. Kadam	Steno
02	Mr. N. B. Patil	Asst. Librarian
03	Mr. B.T. Patil	Sr. Clerk
04	Mr. R.D. Thakeray	Jr. Clerk
05	Mr. P.S. Mali	Jr. Clerk
06	Mr.S. D. Borse	Jr. Clerk
07	Mr. P.B. Patil	Lib. Assistant
08	Mr. S.B. Patil	Lib. Assistant
09	Mr. A. D. Bhoge	Lib. Assistant
10	Mr. D. T. Bhoge	Lib. Peon
11	Mr. J.R. Thakur	Lib. Peon
12	Mr. M. A. Deore	Lib. Peon
13	Mr. A. B. Patil	Lib. Peon
14	Mr. K.D. Patil	Lib. Assistant
15	Mr. S.R. Mahajan	Lib. Assistant
16	Mr. D.R. Nikam	Lab Att.
17	Mr. V.P. Sardar	Lab Att.
18	Mr. D.K. Patil	Lab Att.
19	Mr.A. B. Pawar	Lab Att.
20	Mrs.GeetajaliPawar	Lab Att.
21	Mr. P.S. Wagh	Lab Att.
22	Mr. N. A. Patil	Lab Att.
23	Mr. G.B. Bhoi	Lab Att.
24	Mr.R.G. Kedar	Lab Att.
25	Mr. A.B. Mahajan	Lab Att.
26	Mr. V.V. Jadav	Peon
27	Mr. G. S. Mahajan	Peon
28	Mr. R. K. Pawar	Peon
29	Mr. G.N. Patil	Peon

30	Mrs. M. E. Patil	Peon
31	Mr. P.B. Sardar	Peon

# 4. COLLEGE DEVELOPMENT COMMITTEE

(Constituted under the section 97 Maharashtra Public University Act 2016)

Sr.No.	Name of person	Representation	Designation
1	Dr. Satish Bhaskarrao Patil (Ex. Minister)	Management	Chairman
2	Mrs. Rekha Satish Patil	Management	Member
3	Adv. Sharad Fulchand Jain	Management	Member
4	Hon'ble Shri. Ashok Gaindhal Patil	Management	Member
5	Dr. Gunwant Hari Sonawane	Head of the Department	Member
6	Mr. Avinash Budhaji Ahire	Teacher	Member
7	Dr. Rajendra Shyamrao patil	Teacher	Member
8	Dr. Smt. Anita Dongar Mudavadkar	Teacher	Member
9	Mr. Rajendra Ramrao Kadam	Non-Teaching	Member
10	Mr. Sanjay Bhika Chaudhari	Education	Member
11	Dr. Umesh Daga Patil	Industry	Member
12	Dr. Rahul Himmatrao Kuwar	Society	Member
13	Dr. Shivaji Bansilal Patil	Research	Member
14	Dr. Prakash Dilip Patil	IQAC Co- ordinator	Member
15	Dr. Yashwantrao Vitthalrao Patil	Principal	Member Secretary

## 5. ACTIVITIES OF THE DEPARTMENTS AND COMMITTEES

#### **DEPARTMENT OF CHEMISTRY**

- On 10 September 2019, a one-day workshop was organized for Chemistry faculty at KBC NMU JALGAON. Association of Chemistry Teachers was formed in the workshop. The workshop was inaugurated by Management Council Member Prof. Dr. Ratnamala Bendre, Prof. D. H More, BOS Chairman Prof. Dr. S. S. Rajput BOS Member Principal Dr. S. N. Patel Principal. DR. Y. V. Patil.
- From 1st January 2020 to 5th January 2020, an industrial educational trip was organized for the Department of Chemistry. Visited laboratory of TUV India Private Limited Pune. There were 58 students and the trip was organized under the guidance of Vice Principal and Department Head Dr. G.H Sonawane. And professor S. S. Patil as the head of the trip. Among them were his fellow professors Dr. Anita D. Modavadkar, Dr. Kiran Gosavi, and Dr. Vilas Mahajan.
- Mohit Nikam, a student of S.Y.B.Sc class secured first rank in Chemistry Ability Test conducted by S.S.V.P.S SP.R Ghogre Science College.

#### DEPARTMENT OF GEOGRAPHY

- World Population Day was celebrated in the college on 11th July 2019. On the occasion of this day, Professor C. M. Netkar gave a lecture. This program was presided over by the Principal of the College and the Head of the Department Dr. Y. V. Patil Sir.
- World Ozone Day was celebrated on 14 September 2019 by the Department of Geography. On this occasion, poster presentation and lecture were organized by the department. Also Dr. P. D. Patil gave Lecture on ozone depletion and changing environment.
- Department of Geography celebrates the Geography Weeks. During Geography Weeks
  department organized various events and competitions like Geographical Poster
  Presentation, Geography General Knowledge examination.

#### **DEPARTMENT OF ECONOMICS**

 On 23 September, 2020, Social Science Board inauguration on behalf of Department of Economics and Social Science Board. On this occasion, a lecture was organized by Dr. Pramod Pawar, Principal, Dhanadai Mata College, Amalner. Dr Y. V. Patil, Principal of the college presided over the program  On February 1, 2020, a live telecast of the Union Budget 2021 was held at the Commerce Computer Lab on behalf of the Department of Economics. Under this programme, live broadcast of budget presentation in Parliament was broadcasted to the students on the project. After this, a seminar on budget was organized. Students participated in the discussion and expressed their views on the budget.

#### **DEPARTMENT OF MARATHI**

- 05/09/2019- on these day students of Marathi Department Celebrates the Teacher Day.
- To preserve the glory of the Marathi language and to promote the language, Marathi language conservation fortnight was cerebrating from 1st January to 15th January.

#### DEPARTMENT OF HISTORY

- The birth anniversary of Rajshree Shahu Maharaj was celebrated on 26 June 2019. The program was attended by the principal of the college Dr. Y. V. Patil and Vice Principal Dr. G H. Sonawane
- An educational trip was organized at Ajantha on 3rd March 2020. 14 male and female students were present in this trip. The trip was guided by Dr. B. T. Patil and Professor Kanchan Aatre.

#### NATIONAL SERVICE SCHEME

1 Year of Establishment: 1978

2 **A) Programme Officer:** Mr. P. N. Ingole

B) Assistant Programme Officer: Dr. P.J. Aujekar

C) Assistant Programme Officer: Mrs. A. D. Mudavadkar

3 Volunteer Statistics:

D) Regular activities:

Sr. No	Year	Student Enrolled		
140		Male	Female	Total
1	2019-20	110	70	180

## **E)** Activity details:

<i>1)</i> 1100	vity details.		
Sr.	Activity	Period	Participated Volunteers
No			
1	Tobacco free Oath	11 July 2019	614
2	College premises cleanliness	14 July 2019	134
3	Tree Plantation	16 July 2019	-
4	Tehsil premises cleanliness	21 July 2019	73
5	Bus stand premises cleanliness	28 July 2019	-
6	Cleanliness fortnight	1 -15 Aug 2019	-
7	Goodwill Day	2 Aug 2019	-75
8	Red club workshop	22 Aug 2019	70
9	Workshop on crating Ganesha from Clay	24 Aug 2019	40
10	Blood Donation	8 Sept 2019	36
11	NSS Day	24 Sept 2019	80
12	Poster Pentation	2 Oct 2019	40
13	Constitution Day	26 Nov 2019	70

Year	Village adopted	No. of participants	Periods
2019-	Mhasve	pur tro-purios	22 to 28 December
2020	Tal Parola		2019

## **Activities in the Camp:**

- SwachataAbhyan
- Shramdan
- Lectures
- Group discussion
- Yoga
- Meeting with Mhasve Villagers
- Construction of Small Stone Dam
- Tree Plantation

## **Lectures on Various Topics on during camp:**

Date	Guidance by	Topic
23 Dec 2019	Mr. Namdeo Ahire.	Awareness about HIV / AIDS
	Mr. Bhagavan Choudhary	Tuberculosis free India
	Mr. Anirudha Deore	Water and soil observation
	Dr. P. P. Patil	Bio Diversity
24 Dec 2019	Dr. G. H. Sonawane	Plastic free India
25 Dec 2019	Mr. jivan More	Rural Development
	Mr. Pramod Pawar	Self- Development
	Dr. C. R. Satpute	Andhashraddha Nirmoolan
26 Dec 2019		
27 Dec 2019	Mr. Abhay Patil	Social Media

## F) Expenditure on NSS Programme

Sr. No	Year	Regular Programme	Special Winter Programme (Camp)	Total
05	2019-2020	42,000	45,000	87,000

## 6. Students applied under the University ordinance 163.

Sr. No	Year	Arts	Commerce	Science	B.Voc	Total
01	2019-	07	12	07	01	27
	2020					

## NATIONAL CADET CORPS

**Year of Establishment:** 15 Aug. 1995 **Name of NCC Officer:** Capt. Dr. R.S. Patil

1. Enrolment Details:

Year	No. of Cadet Enrolled
First Year	21
Second year	26
Third Year	13
Total	60

Amount of Refreshment washing & polishing paid to the cadet through bank account during year: Rs. 23859

#### **Earn and Learn Scheme**

Sr No	Name of Scheme	Participated Students	College Share (Rs.)	Total (Rs.)
1	Karmavir BhauraoPatil Earn &	29	266550	95595
	Learn Scheme			
2	Economically Weaker Section	20	84000	24,800
	Scheme			

#### DEPARTMENT OF SPORT

Academic Year of 2019 -2020, Student of college had participated in various sports coemptions organized by college and other colleges in collaboration with KBC NMU, Jalgaon.

 Intercollege chess competitions at Dhandai college Amalner Participated on 09-Nov – 2019

- Intercollege Athletics for men and women ASC college Chopda Participated on 10
   Oct 2019
- 3. Intercollege Kabaddi men competitions RND ACS college Bhadgaon Participated on 11 Oct 2019
- 4. Intercollege Kho-Kho competitions for men and women at RND ACS college Bhadgaon Participated on 11 Oct 2019
- 5. Intercollegiate Pistol & rifal shooting competition at M.J. College Jalgaon organized by kisan Arts commerce & Science college parola on 22 Sept 2019
- 6. Intercollegiate Wrestling Competitions for men and women at DDSP College Erondol Participated 0n 30 Sept- 2019
- 7. Intercollegiate Swimming competitions for Men and women at Pankaj College Chopada Participated on 13 Sept - 2019
- 8. Intercollegiate Cross- country competitions at Pankaj College Chopada participated on 14 Sept 2019
- 9. Intercollegiate Football men competitions R.L College Parola Participated on 07 Sept 2019
- 10. Intercollegiate Power Lifting Men competition at RND ACS College Bhadgaon Participated on 04 Oct 2019
- 11. University level Krida Mohostav Participated on 1- 3 Feb 202

#### 5. SCHOLARSHIPS

Year	Name of the Scheme	governmen	ent benefited by at scheme & nount
		No of	Amount in Rs.
		students	
2019 -	Government Scholarships & Free Ship	688	22,81045
2020			

## 6. RESULT OF DEPARTMENTS

## **DEPARTMENT OF CHEMISTRY**

**FYBSC Sem: I** 

	No. of		No.	of stuc	lents ob	otainec	grade	& Perc	entage	to appea	ared Stu	idents		]	Fail
Name of the Paper	Stude nts Appea red	O	%	A	%	A+	%	В	%	В+	%	С	%	No ·	%
Physical & Inorganic Chemistry	143	14	9.7	10	6.9	19	13.2	20	13.9	19	13.2	11	7. 6	50	34.9
Organic & Inorganic	143	20	13. 9	35	24.4	21	14.6	17	11.8	21	14.6	4	2. 7	25	17.4
Chemistry Practical	143	48	33. 5	38	26.5	47	32.8	8	5.5					2	1.3

## **SYBSC Sem III**

	No. of		No	o. of st	udents o	btaine	d grade	& Perc	centage t	to appea	red Stu	idents			Fail
Name of the Paper	Students Appeare d	О	%	A	%	A+	%	В	%	B+	%	С	%	N O	%
Physical & Inorganic Chemistry	127	20	15.7	32	25.1	17	13. 3	-	-	10	7.8	-	-	48	37
Organic &Analytical Chemistry	127	20	15.7	27	21.2	31	24. 4	-	-	9	7.0	-	-	40	31.4

Chemistry Practical	127	85	66.9	9	7.08	24	18. 8	-	-	-	-	-	9	7.0
Basic Analytical Chemistry	106	30	28.3	21	19.8	9	8.	10	9.4	-	-	-	36	33.9

## TYBSC Sem: V

	No. of		No.		Fa	il							
Name of the Paper	Students Appeare d	О	%	A	%	В	%	С	%	D	%	No	%
Physical Chemistry	69	12	17. 3	18	26.0	16	23.1	-	-	-	-	21	30.1
Inorganic Chemistry	69	23	33. 3	15	21.7	20	28.9	-	-	-	-	11	15.9
Organic Chemistry	69	24	34. 7	20	28.9	6	8.6	-	-	-	-	19	27.5
Analytical chemistry	69	18	26. 0	20	28.9	10	14.4	9	13.0	-	-	12	17.3
Industrial chemistry	69	26	37. 6	21	30.4	4	5.7		-	-	-	18	26.0
Polymer Chemistry	69	21	30. 4	20	28.9	10	14.4	5	7.2	-	-	13	18.8
Physical Chemistry Practical	69	48	69. 5	21	30.4	-	-	-	-	-	-	00	-
Inorganic Chemistry Practical	69	51	73. 9	18	26.0	-	-	-	-	-	-	00	-

Organic	69	49	71.			-		-		-	-	00	-
Chemistry			0	20	28.9		-		-				
Practical													

## TYBSC Sem: V

	No. of	<u> </u>									nts	Fa	il
Name of the Paper	Student s Appear ed	О	%	A	%	В	%	С	%	D	%	No	%
Physical Chemistry	69	12	17.3	18	26.0	16	23.1	-	-	-	-	21	30.1
Inorganic Chemistry	69	23	33.3	15	21.7	20	28.9	-	-	-	-	11	15.9
Organic Chemistry	69	24	34.7	20	28.9	6	8.6	-	-	-	-	19	27.5
Analytical chemistry	69	18	26.0	20	28.9	10	14.4	9	13.0	-	-	12	17.3
Industrial chemistry	69	26	37.6	21	30.4	4	5.7		-	-	-	18	26.0
Polymer Chemistry	69	21	30.4	20	28.9	10	14.4	5	7.2	-	-	13	18.8
Physical Chemistry Practical	69	48	69.5	21	30.4	-	-	-	-	-	-	00	-
Inorganic Chemistry Practical	69	51	73.9	18	26.0	-	-	-	-	-	-	00	-
Organic Chemistry Practical	69	49	71.0	20	28.9	-	-	-	-	-	-	00	-

# FYBSC Sem: II

	No. of		No.	of stu	dents ol	otaineo	d grade	& Perc	entage t	o appea	red Stude	ents			Fail
Name of the Paper	Student s Appear ed	О	%	A	%	A+	%	В	%	B+	%	С	%	No.	%
Physical & Inorganic Chemistry	143	30	20. 9	39	27.2	60	41.9								
Organic & Inorganic	143	27	18. 8	33	23.0	69	48.2								
Chemistry Practical	143	82	57. 3	12	8.3	26	18.1							9	6.2

# SYBSC Sem IV

	No. of		No	. of stu	idents of	otainec	l grade	& Pero	centage	to appea	red St	udents		Fa	ail
Name of the Paper	Students Appeare d	О	%	A	%	A+	%	В	%	B+	%	С	%	NO	%
Physical & Inorganic Chemistry	127	37	29.1	31	24.4	59	46. 4								
Organic &Analytic al Chemistry	127	41	32.2	39	30.7	44	34. 6			3	2.3				
Chemistry Practical	127	63	49.6	16	12.5	39	30. 7							9	7.0

Basic	106	38	25.0	24	22.	44	41.				
Analytical			35.8				5				
Chemistry											

# TYBSC Sem: VI

	No. of		No. of	student	s obtaine	ed grad	le & Perc	entage 1	to appear	ed Stude	ents	Fa	ail
Name of	Students												
the Paper	Appeare	O	%	A	%	В	%	C	%	D	%	No	%
	d												
Physical	69	22	31.8	44	63.7	3	4.3	-	-	-	-	-	-
Chemistry													
Inorganic	69	23	33.3	46	66.6	-	-	-	-	-	-	-	-
Chemistry													
Organic	69	24	34.7	45	65.2	-	-	-	-	-	-	-	-
Chemistry													
Analytical	69	18	26.0	51	73.9	-	-	-	-	-	-	-	-
chemistry													
Industrial	69	27	39.1	42	60.8	-	-	-	-	-	-	-	-
chemistry													
Polymer	69	21	30.4	44	63.7	4	5.7	-	-	-	-	-	-
Chemistry													
Physical	69	56		13	18.8	-		-	-	-	-	-	-
Chemistry			81.1										
Practical													
Inorganic	69	58		11	15.9	-		-	-	-	-	-	-
Chemistry			84.0				-						
Practical													
Organic	69	59		10	14.4	-		-	-	-	-	-	-
Chemistry			85.5				-						
Practical													

## **DEPARTMENT OF BOTANY**

F.Y.B.Sc. Sem. -I

Class	Sem	Paper	Appeared	O	%	A	%	A+	%	В	%	$\mathbf{B}$ +	%	F	%
			students												
	I	Botany Paper I	113	01	0.88	21	18.58	02	1.77	00	00	11	9.73	78	69.03
FYBSc	I	Botany Paper II	113	01	0.88	45	39.82	08	7.08	00	00	27	23.89	32	28.32
	I	Practical I	113	38	33.63	32	28.32	39	34.51	01	0.88	03	2.65	00	00
	II	Botany Paper I	113	01	0.88	58	51.33	54	47.79	00	00	00	00	00	00
	II	Botany Paper II	113	01	0.88	55	48.67	57	50.55	00	00	00	00	00	00
	II	Practical II	113	51	45.13	00	00	55	48.67	00	00	00	00	07	6.19

## S.Y.B.Sc.

Class	Sem	Paper	Appeared	0	%	A	%	<b>A</b> +	%	В	%	B+	%	F	%
			students												
	III	Botany Paper I	73	5	6.85	10	13.70	7	9.59	3	4.11	14	19.18	34	46.58
SYBSc	III	Botany Paper II	73	1	1.37	20	27.40	7	9.59	8	10.96	00	00	37	50.68
	III	Practical I	73	41	56.16	2	2.74	23	31.51	00	00	00	00	7	9.59
	IV	Botany Paper I	73	12	16.44	24	32.88	29	39.73	00	00	8	10.96	00	00
	IV	Botany Paper II	73	11	15.07	27	36.99	27	36.99	00	00	8	10.96	00	00
	IV	Practical II	73	58	79.45	00	00	9	12.53	00	00	00	00	6	8.22

## **DEPARTMENT OF ZOOLOGY**

F.Y.B.Sc. Sem. –I

Name of the paper	No. of Student	No.	Stude	nts ol	otaineo	d gra	de & pe	ercent	tage to	app	eared st	uden	nts			Fai	1
	Appear	О	%	A +	%	A	%	B +	%	В	%	С	%	P	%	F.	%
Zoology Paper-I	119	01	0.8	09	7.5	1 8	15.1	25	21	3 0	25.2 1	0 4	3.3 6	-		3 0	25.2 1
Zoology Paper-II	119	02	1.6 8	08	6.7	1 9	15.9 6	23	19. 3	2 2	18.4 8			-	-	3	27.7 3
Zoology Paper-III (Practical)	119	07	5.8 8	56	47. 5	4 4	36.9 7							-		0 2	1.68

## F.Y.B.Sc. Sem. –II

Name of the paper	No. of Student	No.	Stude	nts ob	tained g	grade	& perce	entag	e to appo	eared	stude	nts				Fail	
	Appear	О	%	A+	%	A	%	B+	%	В	%	С	%	D	%	No.	%
Zoology Paper-I	107	02	1.86	32	29.9.	59	55.14	14	13.08								
Zoology Paper-II	107	02	1.86	20	28.3	70	65.42	13		02	1.86	1				-	
Zoology Paper-III (Practical)	107	10	9.34	47	43.92	44	41.12									06	5.60

## S.Y.B.Sc.Sem.-III

Name of the paper	No. of Student	No.	Studen	ts obt	ained gr	ade &	percen	itage 1	to appea	ared s	tudents					Fail	
	Appear	О	%	A +	%	A	%	B +	%	В	%	С	%	P	%	F.	%
Zoology Paper-I	73	02	2.73	06	8.21	10	13.6	12	16.4		-	01	1.3	03	4.1	39	53.42
Zoology Paper-II	75	02	2.66	07	9.33	17	22.6	07	9.33	07	9.33	04	5.33	02	1.33	29	38.66
Zoology Paper-III Practical	74	21	28.3	21	28.37	22	29.7	03	4.05							07	9.45

## **DEPARTMENT OF MATHEMATICS**

## F.Y.B.Sc Sem: I

Class	Subject	No. of Students Admitted	No. of Students Appeared	No. of Absent Students	No. of Passing Students	No. of Fail Students	Distinction	1 <sup>st</sup> class	2 <sup>nd</sup> class	Pass class	% pass students
F.Y.B.Sc.	I	22	22	-	19	3	12	7	-	-	86.36%
	II	22	22	-	14	8	13	1	-	-	63.63%
	III	22	22	-	20	2	18	2	-	-	90.90%

## Sem: II

Class	Subject	No. of	Distinction	1 <sup>st</sup>	2 <sup>nd</sup>	Pass	% pass				
		Students	Students	Absent	Passing	Fail		class	class	class	students
		Admitted	Appeared	Students	Students	Students					
F.Y.B.Sc.	I	22	22	-	22	-	20	2	-	-	100 %
	II	22	22	-	22	1	20	2	-	-	100 %
	III	22	22	-	22	-	19	3	-	-	100 %

## S.Y.B.Sc Sem: I

Class	Subject	No. of	Distinction	1 <sup>st</sup>	2 <sup>nd</sup>	Pass	% pass				
		Students	Students	Absent	Passing	Fail		class	class	class	students
		Admitted	Appeared	Students	Students	Students					
S.Y.B.Sc.	I	11	11	-	1	10	1	-	-	-	9.09%
	II	11	11	-	5	6	5	-	-	-	45.45%
	III	11	11	-	11	-	11	_	-	_	100%

S.Y.B.Sc Sem: II

Class	Subject	No. of	No. of	No. of	No. of	No. of Fail	Distinction	1 <sup>st</sup>	2 <sup>nd</sup>	Pass	% pass
		Students Admitted	Students Appeared	Absent Students	Passing Students	Students		class	class	class	students
S.Y.B.Sc.	I	11	11	-	11	-	11	-	-	-	100%
	II	11	11	-	11	-	11	-	-	-	100%
	III	11	11	-	11	-	11	-	-	-	100%

## **DEPARTMENT OF MARATHI**

FYBA Sem: I

Name of the	No. of		No	o. of s	tudents	s obta	ained g	grade &	Perce	ntage	to appe	eared	Studer	nts			Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
UP.Marathi	144			09	6.25	12	8.33	29	20.13	21	14.58	28	19.14	10	6.94	35	24.30
Wad.Marathi	66			04	6.06	07	10.60	22	33.33	11	16.66	04	6.06	05	5.55	39	27.08

## FYBA Sem : II

Name of the	No. of		No	of s	tudent	s obta	ined g	grade &	Perce	ntage	to appe	eared	Stude	nts			Fail
Paper	Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
UP.Marathi	144			06	4.16	09	6.25	34	23.61	19	13.19	29	20.13	08	555	39	27.08
Wad.Marath	68			05	7.35	08	11.76	17	25.00	13	19.11	06	8.82	04	588	15	22.05

## FYBCom Sem : I & II

Name of the	No. of		No	o. of s	tuden	ts obta	ained g	grade &	. Perce	entage	to app	eared	Stude	nts		]	Fail
Paper	Students	O	%	A+	%	A	%	B+	%	В	%	C+	%	C	%	No.	%

	Appeared																
Marathi	76	03	3.94	12	15.78	11	14.47	08	10.52	10	13.15	07	9.21	04	) /h		27.63
Marathi	76	06	7.89	09	11.84	13	17.10	05	6.57	09	11.84	08	10.52	07	9.21	19	25.00

FYBSc Sem: II

Name of the	No. of		No	of s	tuden	ts obta	ained g	grade &	z Perce	entage	to app	eared	Stude	ents		I	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
Marathi	128	28	21.87	03	2.34	08	6.25	15	11.71	21	16.40	08	6.25	03	2.34	21	16.40

## SYBSc Sem: III & IV

Name of the	No. of		No	of s	tudent	ts obta	ained g	grade &	z Perce	entage	to app	eared	Stude	ents		I	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	C	%	No.	%
Marathi	122	23	18.85	14	11.47	19	15.57	24	19.67	08	6.55	17	11.47	08	6.55	15	12.29
Marathi	122	27	22.13	12	9.83	10	8.19	21	17.21	17	13.93	09	7.37	08	8.55	18	14.75

## SYBVOc Sem: III & IV

Name of the	No. of		No	of s	tudent	s obta	ained g	grade &	z Perce	entage	to app	eared	Stude	ents		F	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
Marathi	27	07	25.92	04	14.81	02	7.40	03	11.11	04	14.81	02	7.40			05	18.51
Marathi	27	11	40.74	01	3.70	01	3.70	01	3.70	02	7.40	03	11.11	01	3.70	07	25.92

## SYBA Sem: III

Name of the	No. of		No	. of st	udents	obta	ined g	rade &	Perce	ntage	to app	eared	Stude	ents		F	'ail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
UP.Marathi	43			02	4.46	02	4.46	07	16.25	04	4.65	06	13.95	05	11.62	17	39.53
Wad.Marath	47			03	6.38	04	8.51	06	12.76	06	12.76	05	10.63	05	10.63	18	38.89
i																	

## SYBA Sem: IV

Name of the	No. of		No	o. of s	tudent	ts obta	ained g	grade &	Perce	entage	to app	eared	Stude	nts		F	ail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	C	%	No.	%
UP.Marathi	45			01	2.22	03	6.66	05	11.11	07	15.55	08	17.77	07	15.55	15	33.33
Wad.Marath	48			02	4.16	03	6.25	08	16.66	08	16.66	05	10.41	03	6.25	19	39.58
i																	

## SYBA Sem : III & IV

Name of the	No. of		No	o. of s	tuden	ts obta	ained g	grade &	Perce	entage	to app	eared	Stude	ents		I	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
Marathi S1	21			02	9.25	03	14.28	07	33.33	01	4.76	01	7.76			07	33.33
Marathi S1	21			01	4.76	02	9.52	05	23.80	03	14.28	01	4.76	01	4.76	80	38.09

## SYBA Sem : III & IV

Name of the	No. of		No	o. of s	studen	ts obt	ained g	grade &	z Perce	ntage	to app	eared	Stude	nts		F	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	C	%	No.	%
Marathi S2	21			01	4.76	01	4.76	04	19.04	02	9.52	02	9.252	02	9.52	09	42.85
Marathi S2	21			01	4.76	01	4.76	06	28.57	03	14.28	01	4.76	01	4.76	08	38.09

## SYBA Sem: III & IV

Name of the	No. of		No	o. of	studen	ts obt	ained g	grade &	z Perce	ntage	to app	eared	Stude	nts		F	Fail
Paper	Students	О	%	A+	%	A	%	B+	%	В	%	C+	%	C	%	No.	%
T	Appeared		, -		, -		, -		, -		, ,		, -		, •	_ ,	, ,
Marathi	29			01	3.44	03	10.34	06	20.68	05	17.24	07	24.13	02	6.89	05	17.24
Skill																	
Marathi	29			03	10.34	02	6.89	08	27.58	04	13.79	03	10.34	02	6.89	07	24.13
Skilll																	

#### SYBA Sem: III & IV

Name of the	No. of		No	o. of	studen	ts obt	ained g	grade &	Perce	ntage	to app	eared	Stude	nts		F	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
Marathi MIL	138			07	5.07	10	7.24	21	15.21	38	27.53	19	13.76	16	11.59	27	19.56
Marathi MIL	138			11	7.97	17	12.31	14	10.14	41	29.71	23	16.66	13	9.42	19	13.76

## TYBA Sem: V

Name of the	No. of		No	o. of s	tudent	s obt	ained g	grade &	& Perc	entage	to app	eared	Stude	nts		F	Fail
Paper	Students	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
F	Appeared		, -		, ,		, -		, ,		, -		, -		, -	_ ,	, •
UP.Marathi	65			07	10.76	11	16.92	17	26.15	08	12.30	03	4.61	01	1.53	18	27.69
Wad.Marath	38			02	5.26	06	15.78	04	10.52	06	15.78	07	18.42	03	7.89	10	26.31
i																	

## TYBA Sem : VI

Name of the	No. of		N	o. of	studen	ıts obt	ained	grade &	z Perce	entage 1	to appe	eared S	Studen	ts		F	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	C	%	No.	%
UP.Marathi	65			06	9.23	09	13.84	15	23.07	10	15.38	08	12.30	05	7.69	12	18.46
Wad.Marath	38			04	10.52	07	18.42	02	5.26	04	10.52	05	13.15	02	5.26	14	36.84

## TYBA Sem : V & VI

Name of the	No. of		No	o. of s	studen	ts obt	ained g	grade &	& Perc	entage	to app	eared	Stude	nts		I	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
Marathi S3	11					04	36.36	03	27.27	-						05	45.45
Marathi S3	11					02	18.18	02	18.18	03	27.27					05	45.45

#### TYBA Sem: V & VI

Name of the	No. of		No	o. of	studen	ts obt	ained g	grade d	& Perc	entage	to app	eared	Stude	nts		F	Fail
Paper	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No.	%
Marathi S4	11					03	27.27	03	27.27	01	9.09					05	45.45

	1	1	1									$\overline{}$	
Marathi S4	11			 	04	36.36	03	27.27	 	 		05	45.45

## **DEPARTMENT OF ENGLISH**

DEPAR	RTMENT OF ENGLISH			AC	ADEM	IIC YE	AR 20	019-2	020				SEM -	I, III,	V						
CLASS	Name of the Paper	Paper	No. of Students		N	o. of	stude	nts ol	otaine	ed gra	de &	Perce	entag	e to a	ppear	red St	uden	ts		F	ail
CLASS	Name of the Paper	Code	Appeared	0	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	D	%	F	%
FYBA	Compulsory English	CENG-201	133	0	0	1	0.8	7	5.3	28	21	24	18	0	0	20	15	0	0	53	40
FYBA	Optional English	OENG-201	12	0	0	0	0	5	42	5	42	0	0	0	0	1	8.3	0	0	1	8.3
FYBCom	Compulsory English		108	0	0	2	1.9	21	19	20	19	19	18	0	0	10	9.3	11	10	25	23
	Compulsory English	CENG 231	162	0	0	7	4.3	12	7.4	18	11	22	14	0	0	6	3.7	9	5.6	88	54
	16th & 17th Century English Literature	ENG 242	17	0	0	0	0	6	35	2	12	4	24	0	0	0	0	0	0	5	29
SYBA	18th & 19th Century English Literature	ENG 243	17	0	0	0	0	4	24	1	5.9	4	24	0	0	1	5.9	0	0	7	41
	The Study of Novel & Drama	ENG 231	17	0	0	0	0	4	24	1	5.9	0	0	0	0	0	0	0	0	12	71
	English for Competitive Examinations	ENG 244	17	0	0	1	5.9	2	12	0	0	2	12	0	0	0	0	0	0	12	71
SYBSc	Communicative English	830101	6	0	0	2	33	4	67	0	0	0	0	0	0	0	0	0	0	0	0
	Compulsory English	CENG- 361	99	10	10	5	5.1	24	24	13	13	10	10	0	0	10	10	0	0	27	27
TVDA	American Literature	ENG-362	11	0	0	2	18	6	55	2	18	1	9.1	0	0	0	0	0	0	0	0
ТҮВА	The Study of English Langauge- II	ENG-363	11	1	9.1	3	27	6	55	1	9.1	0	0	0	0	0	0	0	0	0	0
	The Study of Drama- II	ENG-361	11	0	0	1	9.1	4	36	4	36	2	18	0	0	0	0	0	0	0	0

DEPA	RTMENT OF ENGLISH	ł			ACADE	иіс у	EAR 201	9-202	20		S	<b>EM</b> - 1	II, IV, VI								
CLASS	Name of the Paper	Paper	No. of Students				No. of s	tuden	ts obtai	ined g	grade &	Perce	entage t	o app	eared S	tuder	ıts			]	Fail
CLASS	Name of the Paper	Code	Appeared	0	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	D	%	F	%
FYBA	Compulsory English	CENG- 201	133	1	0.75	16	12.03	62	46.62	26	19.55	19	14.29	0	0.00	1	0.75	0	0.00	8	6.02
FYBA	Optional English	OENG- 201	12	0	0.00	0	0.00	6	50.00	5	41.67	0	0.00	0	0.00	0	0.00	0	0.00	1	8.33
FYBCom	Compulsory English		108	0	0.00	23	21.30	69	63.89	11	10.19	2	1.85	0	0.00	0	0.00	0	0.00	3	2.78
	Compulsory English	CENG 231	162	3	1.85	29	17.90	98	60.49	18	11.11	5	3.09	0	0.00	0	0.00	0	0.00	9	5.56
	16th & 17th Century English Literature	ENG 242	17	0	0.00	4	23.53	11	64.71	0	0.00	0	0.00	0	0.00	0	0.00	0	0.00	2	11.76
SYBA	18th & 19th Century English Literature	ENG 243	17	2	11.76	3	17.65	7	41.18	3	17.65	0	0.00	0	0.00	0	0.00	0	0.00	2	11.76
	The Study of Novel & Drama	ENG 231	17	0	0.00	5	29.41	9	52.94	1	5.88	0	0.00	0	0.00	0	0.00	0	0.00	2	11.76
	English for Competitive Examinations	ENG 244	17	2	11.76	3	17.65	7	41.18	3	17.65	0	0.00	0	0.00	0	0.00	0	0.00	2	11.76
SYBsc	Communicative English		6	1	16.67	4	66.67	1	16.67	0	0.00	0	0.00	0	0.00	0	0.00	0	0.00	0	0.00
	Compulsory English	CENG- 361	99	20	20.20	11	11.11	15	15.15	9	9.09	13	13.13	0	0.00	4	4.04	0	0.00	27	27.27
mu -	American Literature	ENG- 362	11	0	0.00	5	45.45	5	45.45	0	0.00	0	0.00	0	0.00	0	0.00	0	0.00	1	9.09
TYBA	The Study of English Langauge- II	ENG- 363	11	1	9.09	5	45.45	3	27.27	0	0.00	1	9.09	0	0.00	0	0.00	0	0.00	1	9.09
	The Study of Drama- II	ENG- 361	11	0	0.00	2	18.18	5	45.45	3	27.27	0	0.00	0	0.00	0	0.00	0	0.00	1	9.09

## **DEPARTMENT OF GEOGRAPHY**

									20	)19-2(	)										
		Name of the	No.of Stu.				N	lo.of St	udent	Obtain	d grade	& Perce	entage	to appea	ared Stu	dents				Fail	
class	Sem.	Paper	Appeared	0	%	<b>A</b> +	<b>%</b>	A	%	B+	<b>%</b>	В	%	C	%	D	%	AB	%	No.	%
FYBA	I	DSC Geo-101	83	1	1.2	10	12	12	14.5	29	34.94	10	12.05	3	3.6145	0	0	13	15.663	15	18.072
	II	DSC Geo-201	83	1	1.2	24	28.9	30	36.1	13	15.663	8	9.639	0	0	0	0	1	1.2048	6	7.2289
SYBA	III	DSC Geo 231	33		0		0	5	15.2	8	24.242	2	6.061	2	6.0606			2	6.0606	14	42.424
	IV	DSC Geo 241	33	1	3.03	8	24.2	20	60.6	2	6.0606		0	1	3.0303			1	3.0303		0
	III	DSE Geo 232	5		0	2	40	3	60		0		0		0				0		0
	IV	DSE Geo 242	5		0	5	100		0		0		0		0				0		0
	III	DSE Geo 233	5		0		0		0		0		0		0				0	5	100
	IV	DSE Geo 243	5		0	5	100		0		0		0		0				0		0
	III	SEC Geo 234	5		0		0		0	1	20		0		0				0	4	80
	IV	SEC Geo 244	5		0	5	100		0		0		0		0				0		0
TYBA	V	S-3	6		0		0	2	33.3	2	33.333		0		0			2	33.333		0
	VI	S-3	6		0		0	3	50	3	50	0	0	0	0			0	0		0
	V	S-4	6		0		0	3	50	1	16.667	0	0	0	0			2	33.333		0
	VI	S-4	6		0		0	2	33.3	2	33.333	2	33.33		0			0	0		0
	V	G-3	9	2	22.2	2	22.2	10	111	4	44.444	2	22.22	0	0			3	33.333	0	0
	VI	G-3	23	5	21.7	3	13	4	17.4	1	4.3478	2	8.696	3	13.043			5	21.739		0

## **DEPARTMENT OF HISTORY**

Sr.	Name Of The Paper	Sem	No. Of																		
No			Students Appeared	0	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	Fail	%	Pass	%
1.	History Of India	2	231	05	02.	14	06.	42	18.	46	19.	30	12.	25	10.	10	04.	33	14.	198	85.
	(AD.1857 – AD. 1950) (G-1)				16		06		18		91		98		82		32		28		71
2.	(G-2) RISE OF MARATHA	4	123	02	01.	11	08.	25	20.	19	15.	14	11.	11	08.	15	12.	26	21.	97	78.
	POWER (1674-1707) (G-2)				62		94		32		44		38		94		19		13		86
3.	(S-1) MODERN INDIA	4	23	-	-	02	08.	02	08.	03	13.	02	08.	02	08.	02	08.	10	43.	13	56.
	(1805-1857) (S-1)						69		69		04		69		69		69		47		52
4.	History Of Ancient India	4	23	-	-	02	08.	02	08.	02	08.	03	13.	02	08.	02	08.	10	43.	13	56.
	(BC. 600 To AD. 1206) (S-2)						69		69		69		04		69		69		47		52
6.	HISTORY OF MODERN	6	67	02	02.	06	08.	12	17.	11	16.	09	13.	12	17.	06	08.	09	13.	58	86.
	WORLD(1901-1945)(G-3)				98		95		91		91		43		91		95		43		56
7.	(EXPANSION OF THE	6	19	-	-	02	10.	03	15.	03	15.	02	10.	02	10.	01	05.	06	31.	13	68.
	MARATHA POWER						52		78		78		52		52		26		57		42
	(1761-1818) (S-3)																				
8.	HISTORY OF MUGHAL	6	19	-	-	02	10.	03	15.	03	15.	02	10.	02	10.	01	05.	06	31.	13	68.
	(1526-1707) (S-4)						52		78		78		52		52		26		57		42

## DEPARTMENT OF POLITICAL SCIENCE

Class: FYBA Sem: I

Subject Code	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	Fail	%
811111	171	05	2.92	15	8.77	38	22.22	32	18.71	17	09.94	00	00	28	16.37	36	21.05

Class: SYBA Sem: III

Subject Code	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	Fail	%
831111	87	00	00	08	09.19	33	37.93	13	14.84	04	04.59	00	00	04	04.59	25	28.73
831102	19	01	05.26	00	00	09	47.36	04	21.05	01	05.26	00	00	00	00	04	21.05
831103	19	00	00	03	15.78	02	10.52	06	31.57	00	00	00	00	00	00	08	42.10
831107	19	00	00	01	05.26	05	26.31	06	31.57	02	10.52	00	00	00	00	05	26.31

Class: TYBA Sem: V

Subject Code	Students Appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	Fail	%
31116	36	01	02.77	12	33.33	12	33.33	06	16.66	00	00	00	00	00	00	02	05.55
31146	07	00	00	00	00	05	71.42	00	00	00	00	00	00	00	00	02	28.57
31176	07	00	00	02	28.57	02	28.57	01	14.28	00	00	00	00	00	00	02	28.57

#### **DEPARTMENT OF ECONOMICS**

									2019-20											
	Sem.	Name of the Paper	No.of Stu.		_		No	o.of Stu	ident Obt	aind gr	ade & Pe	rcenta	ge to appe	ared	Students					
class			Appeared	0	%	A+	%	A	%	B+	%	В	%	C	%	D	%	AB	%	No.
FYBA	I	ECO - G	83	1	1.20	10	12.0	12	14.4	29	34.9	10	12.0	3	3.61	-	-	13	15.6	15
	II	ECO - G	83	1	1.20	24	28.9	30	36.1	13	15.6	8	9.63	-	-	-	-	1	1.20	6
SYBA	III	DSC Eco 231	33	-	-	-	-	5	15.1	8	24.2	2	6.06	2	6.01	-	-	2	6.06	14
	IV	DSC Eco 241	33	1	3.03	8	24.24	20	60.6	2	6.06	-	-	1	3.03	-	-	1	3.03	-
	III	DSE Eco 232	5	-	-	2	40	3	60	-	-	-	-	-	-	-	-	-	=	-
	IV	DSE Eco 242	5	-	-	5	100	-	-	-	-	-	-	-	-	-	-	-	-	-
	III	DSE Eco 233	5	-	-	-	0	-	-	-	-	-	-	-	-	-	-	-	-	5
	IV	DSE Eco 243	5	-	-	5	100	-	-	-	-	-	-	-	-	-	-	-	-	-
	III	SEC Eco 234	5	-	-	-	0	-	-	1	20	-	-	-	-	-	-	-	-	4
	IV	SEC Eco 244	5	-	-	5	100	-	-	-	-	-	-	-	-	-	-	-	-	-
TYBA	V	S-3	6	-	-	-	-	2	33.3	2	33.3	-	-	-	-	-	-	2	33.33	-
	VI	S-3	6	-	-	-	-	3	50	3	50	-	-	-	-	-	-	-	-	-
	V	S-4	6	-	-	-	-	3	50	1	16.6	-	-	-	-	-	-	2	33.33	-
	VI	S-4	6	-	-	-	-	2	33.3	2	33.3	2	33.3	-	-	-	-	-	-	-
	V	G-3	9	2	22.22	2	22.22	10	111.1	4	44.44	2	22.22	-	-	-	-	3	33.33	-
	VI	G-3	23	5	21.74	3	13.04	4	17.39	1	4.348	2	8.696	3	13.04	-	-	5	21.74	-

#### SOIL AND WATER CONSERVATION DEPARTMENT

#### FYB.Voc Sem- I

Name of	No of	N	lo of	studer	nts ob	taine	d gra	de and	l perc	entag	ge to	appear	ed S	tuder	nts	F	ail
the paper	students appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No	%
GCPCS 111	6					3	50	1	17	1	17					1	17
GCPCS 112	6			1	17	2	33	1	17	1	17					1	17
GCPCS 113	6			2	33	1	17	1	17	1	17			1	17		
GCPCS 114	6			1	17			1	17	1	17			1	17	2	33
SCSWC 111	6					2	33	2	33	1	17					1	17
SCSWC 112	6					1	17	3	50	1	17					1	17
SCSWC 113	6			1	17	1	17	2	33	1	17			1	17		
SCSWC 114	6					1	17	1	17	2	33			1	17	1	17
SCSWC 115	6			1	17			1	17	1	17			1	17	2	33
SCSWC 116	6					1	17	1	17	1	17			1	17	2	33

FYB.Voc Sem- II

Name of the	No of students	]	No o	f stud	ents	obtai		grade Stude		perc	enta	ge to	appe	earec	l	Fa	il
paper	appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No	%
GCPCS 121	6	1	17	3	50			2	33								
GCPCS 122	6	1	17	2	33	2	33	1	17								
GCPCS 123	6			3	50	2	33	1	17								
GCPCS 124	6	2	33	1	17	1	17	2	33								
SCSWC 121	6	2	33	2	33			1	17			1	17				
SCSWC 122	6	1	17	3	50			2	33								
SCSWC 123	6	2	33	2	33			1	17			1	17				
SCSWC 124	6	1	17	2	33			3	50								
SCSWC 125	6	1	17	1	17			3	50			1	17				
SCSWC 126	6	2	33	1	17			3	50								

SYB.Voc Sem- III

Name	No of		No o	of stud	lents	obta	ined	grade	and	l perc	centa	ge to	appe	eared	]	Fa	ail
of the	students							Stud	ents								
paper	appeared	О	0 % A+ % A % B+ % B % C+ % C														%
SWC	34	4															
231																	
SWC	34	5	15	2	6	10	29			17	50						

222		I				1	1					1	1	
232														
SWC	34			7	21	18	53		9	26				
233														
SWC	34	8	24	1	3	17	50		8	24				
234														
SWC	34	5	15	4	12	15	44		10	29				
235														
SWC	34	4	12	2	6	10	29		16	47			2	6
236														
SWC	34	5	15	2	6	16	47		10	29			1	3
237														
SWC	34	3	9	4	12	15	44		12	35				
238														
SWC	34	4	12	5	15	15	44		10	29				
239														

#### SYB.Voc Sem- IV

Name	No of		No o	of stud	dents	obta	ined	_		pero	centa	ge to	арре	eared		Fa	ail
of the	students							Stud	ents								
paper	appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	C	%	No	%
SWC	34	4	12	6	18	14	41			10	29						
241																	
SWC	34	4	12	3	9	10	29			17	50						
242																	
SWC	34	1	3	6	18	18	53			9	26						
243																	
SWC	34	8	24	1	3	17	50			8	24						
244																	
SWC	34	5	15	5	15	15	44			9	26						
245																	
SWC	34	6	18	2	6	10	29			16	47						
246																	
SWC	34	5	15	2	6	15	44			12	35						

247													
SWC 248	34	3	9	4	12	15	44		12	35			
SWC 249	34	4	12	8	24	12	35		10	29			

TYB.Voc Sem- V

Name of the	No of students		No c	of stuc	dents	obta	ined	grade Stude		perd	centa	ge to	арре	earec	l	Fa	ail
paper	appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	C	%	No	%
SWC 351	27	3	11			13	48			7	26			3	11	1	4
SWC 352	27	2	7			10	37			7	26			7	26	1	4
SWC 353	27	1	4			9	33			11	41			6	22		
SWC 354	27	1	4			7	26			12	44			6	22	1	4
SWC 355	27	2	7			8	30			12	44			5	19		
SWC 356	27	2	7			10	37			12	44			3	11		
SWC 357	27	2	7			9	33			12	44			4	15		
SWC 358	27	2	7			5	19			16	59			4	15		
SWC 359	27	3	11			9	33			10	37			5	19		

TYB.Voc Sem- VI

Name of the	No of students		No o	f stud	ents	obta	ined	grade Stude		perc	enta	ge to	appe	eared	l	Fa	ail
paper	appeared	О	%	A+	%	A	%	B+	%	В	%	C+	%	С	%	No	%
SWC 361	27	4	15			13	48			7	26			3	11		
SWC 362	27	3	11			10	37			7	26			7	26		
SWC 363	27	10	37			5	19			5	19						
SWC 364	27	5	19			15	56			7	26						
SWC 365	27	7	26			8	30			12	44						
SWC 366	27	4	15			10	37			5	19						
SWC 367	27	5	19			15	56			7	26						
SWC 368	27	4	15			10	37			5	19						
SWC 369	27	8	30			10	37										

#### **DEPARTMENT OF COMMERCE**

F.Y.B. Com Sem: - I

Name of the paper	No. of student appeared					No	. of studen	its obtaine	d grade aı	nd perce	entage to ap	peare	d students	S			
		О	%	A+	%	A	%	B+	%	В	%	С	%	p	%	F	%
Micro Eco.	108	5	4.6	13	12.0	28	25.9	36	33.34	03	2.77	00	00	00	00	24	22.22
Fin.Ac & cost.	108	0	00	2	1.85	4	3.07	2	1.85	16	14.81	6	5.55	00	00	75	69.44
QTCS	108	1	92.59	30	27.7 7	61	56.48	0	00	0	00	0	00	00	00	16	14.81
MOM	54	0	00	2	1.85	17	31.48	11	22.91	04	7.40	3	5.55	3	5.55	14	25.92
CLMF	53	0	00	3	5.66	30	56.60	14	26.41	0	00	1	1.88	00	00	5	9.43
P & PB	56	0	00	9	16.0 7	12	21.42	8	14.28	10	17.85	9	16.07	1	1.7	7	12.50
M & A	37	1	2.7	3	8.10	8	21.62	3	8.10	7	18.91	4	10.81	5	13.5	6	16.21

F.Y.B. Com Sem: - II

Name of the paper	No. of student appeared	No.	of studer	nts obtaine	ed grade ar	nd perce	ntage to ap	peared stud	dents				
		О	%	A+	%	A	%	B+	%	В	%	F	%
											%		
Micro Eco.	108	0	00	44	40.74	53	49.07	7	6.48	0	00	4	3.7
Fin.Ac & cost.	108	0	00	27	25.00	65	60.18	11	10.18	1	0.92	4	3.7
QTCS	108	0	00	22	20.37	67	62.03	12	11.11	1	0.92	4	3.7
MOM	54	0	00	8	14.81	34	62.96	8	14.81	3	5.55	1	1.85
CLMF	54	0	00	11	20.37	35	64.81	5	9.25	1	1.85	2	3.7
P & PB	51	0	00	17	31.48	29	53.7	04	7.84	1	1.96	0	00
M & A	37	0	00	3	8.10	26	70.27	5	13.51	0	00	3	8.10

S.Y.B. Com Sem: - III

Name of the	No. of			No	o. of stu	dents o	btained	grade &	Percen	tage to a	ppeared	Studen	nts		•	I	ail
Paper	Studen ts App.	0	%	<b>A</b> +	%	A	%	<b>B</b> +	%	В	%	C	%	D	%	No.	%
<b>Macro Economics</b>												08	07.7				
	103	00	00	03	2.19	08	07.77	12	11.65	18	17.48	00	7	09	08.74	45	43.69
<b>Business and Tax</b>												00	00				
Law	103	02	01.94	08	07.77	30	29.13	38	36.79	02	01.94	00		00	00	23	22.33
<b>Business Skill</b>												04	03.8				
	103	00	15	14.56	29	28.16	24	23.30	18	17.48	00	04	8	01	00.97	12	11.65
Corporate																	
Accounting and Costing	103	01	00.97	06	05.83	22	21.36	16	15.53	00	00	00	00	00	00	58	56.31
Computing																	
Management	103	02	01.94	20	19.42	24	23.30	13	12.62	03	02.91	06	05.83	00	00	35	33.98
Business																	
Entrepreneurship	54	00	00	04	07.40	07	12.96	09	16.66	09	16.66	01	01.85	01	01.85	23	42.59
Consumer																	
Protection and	49	00	00	10	20.40	12	24.48	13	26.53	09	18.36	02	04.08	01	02.04	02	04.08
Business Ethics Modern Banking	47		00	10	20.40	12	24.40	13	20.33	0)	10.50	02	04.00	01	02.04	02	04.00
and Financial																	
System	67	00	00	02	02.98	12	17.91	12	17.91	06	08.95	16	23.88	06	08.95	13	19.40
Retail																	
Management	36	00	00	00	00	01	02.77	14	38.88	07	19.44	01	02.77	05	13.88	08	22.22

S.Y.B. Com Sem: - IV

Name of the	No. of	No. of students obtained grade & Percentage to appeared Students										nts		F	ail		
Paper	Studen ts App.	0	%	<b>A</b> +	%	A	%	<b>B</b> +	%	В	%	C	%	D	%	No.	%
Macro Economics	103	04	03.88	46	44.66	24	23.30	10	09.71	09	08.74	04	03.8	00	00	06	05.83
Business and Tax Law	103	02	01.94	45	43.69	38	36.89	09	08.74	03	02.91	03	02.9	00	00	03	02.91
Business Skill	103	03	02.91	46	44.66	24	23.30	10	09.71	09	08.74	04	03.8	00	00	06	05.83
Corporate Accounting and Costing	103	06	05.82	39	37.86	40	38.33	06	05.83	05	04.82	03	02.91	00	00	04	03.88
Cost Accounting	103	01	00.97	27	26.21	33	32.04	08	07.77	08	07.77	16	15.53	04	03.88	06	05.83
Business Entrepreneurshi p	54	00	00	08	18.81	17	31.48	09	6.66	05	09.25	11	20.37	01	01.85	03	05.55
Consumer Protection and Business Ethics	49	00	00	23	46.93	21	42.85	02	04.08	01	02.04	01	02.04	00	00	01	02.04
Modern Banking and Financial System	67	00	00	27	40.29	19	28.35	05	07.46	07	10.44	04	05.97	01	01.49	04	05.97
Retail Management	36	00	00	06	16.66	21	58.33	05	13.88	01	02.77	01	02.77	01	02.77	01	02.77
General Knowledge	103	01	00.97	26	25.24	00	00	00	00	56	54.37	16	15.53	00	00	04	03.88

T.Y.B. Com Sem: - IV

Name of the	No. of			No	of stu	dents o	btained	grade &	Percei	ntage to	appeare	d Stude	nts			F	ail
Paper	Student s App.	0	%	<b>A</b> +	%	A	%	<b>B</b> +	%	В	%	C	%	D	%	No.	%
Indian Economic Scenario	50	00	00	04	08.0	24	48.00	17	34.0	03	06.00	02	04.0	00	00	00	00
Principles & Practices of Auditing	50	01	02.00	07	14.0	16	32.00	17	34.0	05	10.00	02	04.0	00	00	02	04.00
Income Tax	50	07	14.00	05	10.0	14	28.00	17	34.0	05	10.00	00	00	00	00	02	04.00
Human Resource Management	50	01	02.00	13	26.0	28	56.00	04	08.0	02	04.00	00	00	00	00	02	04.00
Modern Management Techniques	50	02	04.00	15	30.0	25	50.00	07	14.0	00	00	00	00	00	00	01	02.00
Advanced Accounting I	50	02	04.00	11	22.0	21	42.00	10	20.0	03	06.00	01	02.0	00	00	02	04.00
Advanced Accounting II	50	11	22.00	08	16.0	12	24.00	12	24.0	05	10.00	00	00	00	00	02	04.00

T.Y.B. Com Sem: - IV

Name of the	No. of			No	of stu	dents o	btained	grade &	Percen	tage to a	ppeare	d Stude	nts			Fail	
Paper	Studen ts App.	O	%	<b>A</b> +	%	A	%	<b>B</b> +	%	В	%	<b>C</b> +	%	C	%	No.	%
Indian Economic Scenario	50	11	22.00	12	24.0	20	40.00	03	06.0	02	04.00	00	00	00	00	02	04.00
Principles & Practices of Auditing	50	20	40.00	16	32.0 0	10	20.00	02	04.0	00	00	00	00	00	00	02	00
Business Skill	50	20	40.00	12	24.0	08	16.00	05	10.0	05	10.00	00	00	00	00	00	00
Human Resource Management	50	33	66.00	09	18.0	07	14.00	01	02.0	10.00	00	00	00	00	00	00	00
Modern Management Techniques	50	30	60.00	10	20.0	08	16.00	01	02.0	00	00	00	00	00	00	01	02.00
Advanced Accounting I	50	22	44.00	10	20.0	17	34.00	01	02.0	00	00	00	00	00	00	00	00
Advanced Accounting II	50	26	52.00	15	30.0	08	16.00	01	02.0	00	00	00	00	00	00	00	00

# 7. PAPER PRESENTED IN THE SEMINAR/CONFERENCE & ATTENDED WORKSHOPS

Sr.	Name of faculty	Subject	Conference	Workshop	Total
No			with level		
1	Principal Dr. Y. V.	Geography	Int. 0		
	Patil		State 0		
2	Dr. Bhagwan S.	Chemistry		01	01
	Bhadane				
3	Dr. Nandkishor H.	Zoology	Nat. 01	02	03
	Desale				
4	Dr.Gunvant	Chemistry	Int. 0	02	03
	H.Sonawane		Nat. 01		
5	Dr. Anita D.	Chemistry		03	03
	Mudavadkar				
6	Dr. Savita	Hindi	Nat. 01	01	02
	P.Chaudhari				
7	Mr.Arvind	Economics		02	02
	A.Bhandare				
8	Dr.Manik M.Bagle	Marathi	Nat. 03	03	06
9	Mr.Anil	Chemistry	Nat. 01	02	03
	S.Waghmare				
10	Dr.Prakash D.Patil	Geography		03	03
11	Dr.Dipak	Physics	Nat. 01	03	04
	B.Salunkhe				
12	Dr.Kiran S.Gosavi	Chemistry	Nat. 01	01	02
13	Mr.Atul S.Patil	Chemistry	Nat. 01	01	02
14	Mr.Hitesh G.Pawar	Commerce	Int. 01		04
			Nat. 03		
15	Mr.Kiran D.Patil	Commerce	Inte. 01	01	03
			State 01		
16	Dr.Pradip J.Aujekar	Marathi		05	05
17	Dr. Vilas K.	Chemistry		01	01

	Mahajan				
18	Mr.Shashikant	Politics	Sta. 02	02	04
	B.Patil				
19	Mr.Nilesh N.Valvi	Geography	Stat. 02	02	04
20	Mr.Pramod	English		03	03
	C.Chaudhari				
21	Mr.Kakasaheb	Geography	Stat.02	02	04
	S.Gaikwad				
22	Mr.Ravindra S.Mali	Politics	Stat. 01	01	02
	Total		23	41	64

# 8. PUBLICATIONS (RESARCH PAPERS)

Sr. No	Name of faculty	Subject	Internation al Journal	National Journal	Proceeding	Total
2	Dr. G.H. Sonawane	Chemistry	01	5	0	06
3	Dr. D. B. Salunkhe	Physics	01	0	0	01
4	Dr. R. A. Shelke	Botany	01	0	0	01
5	Dr. P. P. Patil	Botany	0	01	0	01
6	Dr. K. S. Gosavi	Chemistry	01	01	0	02
	Dr. P.D. Patil	Geography	03	0	0	03
	Dr. S. K. Mahajan	Geography	01	0	0	01
	Dr. P. S. Thakare	Geography	0	01	0	01
	Mr P. C. Chaudhari	English	0	02	0	02
	Dr. V. K. Mahajan	Chemistry	01	01	0	02
	Dr. H. G. Pawar	Commerce	0	01	0	01
	Dr. R. S. Patil	Botany	01	0	0	01
	Mr. A. S. patil	Chemistry	01	0	0	01
	Dr. S. P. Chaudhari	Hindi	0	01	0	01
7	Dr. B. T. Patil	History	0	01	0	01
	Total		11	14	0	25

## 9. RESEARCH PROJECT/SCHEMES

### Two Minor Research Project are sanctioned:

Sr. No.	Name of Faculty	Dept.	Project Title	Funding Agency	Duration	Amount Sanction
02	Dr. P.D. Patil	Geog	Problems and prospects of food security among Tribal population in Satpuda region of Jalgaon District (M.S.)	Indian Council of Social Science Research MHRD	2019- 2020	4.00